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Problem quickname: 6571

Worksheet

1)
Calculate the result for each of the matrix cells.
A - Taog | 9 [ 2] P+ a2 [ a1
35 12
30 1
Of =T33 3 [28] D - T 1] 17
45 22
42 46
2)
Calculate the result for each of the matrix cells.
a) [ T ass [ 721 | 178 | -530
446
464
404
D) [ 626 [ 395 | -67 | -93
76
599
120
O+ [ 253 [ -a34 | 761 | 777
74
2220
395
D [ a3 | cam [ 322 | 400
15
50
-239
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3)

Calculate the result for each of the matrix cells.

A - 53 [6a [ 50| P[+ [ 7a] 14] 19
12 12
29 2
7 5
O + T 37 3 [ 3] Y[ + [30 [ ] 36
7 16
62 18
24 11
4)
Calculate the result for each of the matrix cells.
) T3 a2 | D[ -T2 ]3] 9
30 39
34 40
O + T v | a T2l ) 12
13 2
10 11
Good Luck!
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